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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1 ww F= 9T &, PUZZLING & ZZPUGNIL RBrar =mar § 3t JIPIUAPA &t Quesiff T NE1495053
IPIJAPAJ forar simar & &t = #iz & SWIZZLED &t = forar smwem? uesgen '
. . o . Status : Answered
If in a certain code language, PUZZLING is written as ZZPUGNIL and JIPITAPA is
written as IPITAPALT, then what will SWIZZLED be written as in the same code? Chosen Option : 2
Ans X' 1. ZIWSDEZL
v 2. ZIWSDELZ
< 3. ZIWDSELZ
& 4 ZIWSEDLZ
Q.2
42, 63 3T 105 F Agcay FAISAF T 22 S [B e T
The HCF of 42, 63 and 105 is: Status : Answered
Chosen Option :1
ans of 1. 21
< 2 63
< 3630
X 47
Q.3 —
30 R &1 999 W S e g @ @dfT a9 Question ID : 9864494711
Status : Not Answered

Chosen Option : --

|+ L RNy |
A B C D
Select the figure that does NOT belong in the following group.

A B C D

Ans x 1. C

X>B

v:D

X4 A

4

Q Question ID :
Status :

Chosen Option :

9864495158
Answered
3




Ans

o1t s ¥ o e w2+ AWML OQV Qbsalert.in

?

Select the option that will correctly fit in the blank space of the given figure.

Q.5 =g anol s a¥ & 25 s=at & oo & seial it &) =T &

Ans

Question ID : 9864494868
Status : Not Answered
Chosen Option : --

gl # AT A7 BT 27
aoe F sgiadt (Reetamer &) | Feai 9 @@
1.5 4
2 5
24 8
3 5
3.2 2
34 1

The following table shows the gain in weight by 25 children in a year. What is the mean

value of gain in weight?

Gain in weight (in kg)

No. of children

15

4

2

24

3

32

34

<132
<221
V324
<419




Q.6
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ot @ i ol & g
A) ATIET 3T F=ES

B) g AR &

C) erg 3 A

Which of the following are bad conductors of electricity?

A) Mica and Quartz
B) Metals and Rubber
C) Metals and Mica

v A haoT
A only

sz&ﬁTC Erro)
A and C only

A T B Faa
A and B only

X4Baﬂ={'cm
B and C only

K3

Question ID : 9864494675
Status : Not Answered
Chosen Option : --

Q.7

st F e A @ o AR e B e woaw B

s Ta=0 TS a9 & §RT & e = & ' & 51 @32

On which date Swachh Bharat Mission was started by PM Narendra Modi to fulfill India’s

biggest dream of being a clean nation?

2 g 2014
v &) o
2nd OCT 2014

x 2 14 FaFaT 2015

14th NOV 2015
X 3 14 =7 2014

14th Nov 2014
| 2 3R 2015

2nd OCT 2015

x

Question ID : 9864494395
Status : Answered
Chosen Option :1

Q.8

TF FARAIT T F1 AN SHEH S5 § AFAT § | A FAAGT A

T &R 302 T Hex §, o s Fg faer g

The base of a parallelogram is twice its height. If the area is 392 sq.m, What is its the

height?

x1_12:fna'{

12m
x, 24 e

24m
3_14 HeX

14m
4‘28 Hrex

28m

v

x

Question ID : 9864494881
Status : Answered
Chosen Option : 3

Q.9

Ans

maammwgamﬁl?%,agw%?

An element with an atomic number of 17 is:

Question ID : 9864493074
Status : Answered
Chosen Option : 1




TeF gellatel 51
a halogen gas

T HeHAUT U1
| a transition metal

2 Teh Gors 3

arare gas
TR ﬁmirtnr:_[
an alkali metal

< 4
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Q.10 P & & FiF @ 7= F @y Hens F dwE F e o 9
‘Which of the following is NOT true for the reaction of Calcium with water?

Ans x1_ﬁ'|mﬁra1ﬁrmmg‘l?fr%

Heat evolved is less
v: safFar fr e Fa ad &
The reaction is less violent

3_H2=“mﬁ1m;?r%

H2 gas is evolved
FICHTH T YE H ol @
4

Calcium starts floating

x

x

Question ID : 9864493551
Status : Not Answered
Chosen Option : --

Q.1 R =re T g A Tl @ e o § e a @ s faw 100
#eT 3Rt ¥ T F SO @R 99T 25 ms! ¥ A fr e Fr g
T g2

A boat at anchor is rocked by waves whose consecutive crests are 100 m apart. The wave
velocity of the moving crests is 25 ms™*. What is the frequency of rocking of the boat?

Ans 100 &&=
1. -~
x 100 Hz

v 025 Frc )

0.25Hz

x - 625 Lo
625 Hz

r 8 25 gé"-?

25 Hz

Question ID : 9864494654
Status : Not Answered
Chosen Option : --

Q.12 3cger JF Fr Bk oS 50 GEHET &1 sEEHT afEg Fr 0T w7 |
A convex lens has a focal length of 50 cm. Calculate its power.

Ans ?‘:1-4D

X 21D
Vv32D
X 43D

Question ID : 9864494673
Status : Not Answered
Chosen Option : --

T afy 3 tane= 2 &, & 20 o A Tar W

2eos@—sin@

If 3tan0 = 2, find the value of 2229 —%%¢

2cos8-sin@”

Ans

Question ID : 9864494887
Status : Answered
Chosen Option : 3
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Q.14 T =10 FoFded #I " AT < Fo 3T 7 F¥ &F & o Avgast # @ #=i9

o IFa=w & AR @)

T
FEAr X o o #r fF s U & 10 Fo & At #7r ae F e
e Aaar AEEs e S arE 6§

H=a:
1. shael a7 T & AEEA & oregie Tas &1 2 or g & 1
2. HOEEE o HEET & w2

Consider the given statement to be true and decide which of the following assumptions
is/are implicit in the statement.

Statement:

Company X announced that in their company, 10 clerical jobs will be filled, with the
minimum eligibility criteria being bachelor’s degree pass.

Assumptions:

1. Only those who have passed the bachelor’s degree will apply.
2. Masters can also apply.

x1_mmm1ﬁ‘%ﬁ%|

Only assumption 1 is implicit.

2_ma’r1m2ﬁ‘|‘%l—-r%|

Either assumption 1 or 2 is implicit.
| el At 2 AR 7

Only assumption 2 is implicit.
| FATET 1 IR 2 2= RfEa §

Both assumptions 1 and 2 are implicit.

x

x

v

Question ID : 9864495048
Status : Answered
Chosen Option : 4

Q15 12 °C gy =ar Fr i aEr v g 22

Ans

What is the physical state of water at 12 °C?
1 ad
Liquid

Question ID : 9864494638
Status : Answered
Chosen Option :1

Q.16

Question ID : 9864495066
Status : Answered
Chosen Option : 4




Ans

mﬁmﬂmﬁﬁmmg%%lsalertln

{ek@| el o

A B C D
Select the option that does NOT belong in the following figure series.

{ok || Ie1 | (o]
v i A
X2C
X< 3B
X 4D

Q.17

Ans

S Jiot ST R ® A 9N Siae A wuE S B e
&
Who is the first Indian cricketer to have grabbed BCCI's Polly Umrigar Award three
fawre Fgelr
Virat Kohli
X2 Titge T
Gautam Gambhir
x5 T dgeret
Sachin Tendulkar
TH. TH. gier
M. S. Dhoni

times?

W

X 4

Question ID : 9864494480
Status : Answered
Chosen Option :1

Q.18

Ans

HTSET TEEl BEREE (HE.U.UE.) & gier 3t GH # giaseiiia B mr
zl

Identify the former ISRO chairman and space scientist who became the first Indian to be
inducted in the International Astron Federation (IAF) Hall of Fame.

3BT THATeE TS
vi°
Udupi Ramachandra Rao

JEEATTH T
2.
Subhramniyam Swamy

x 3 qIHRIT AT T
Parmeshwar Lal Saran
, T ICTC) FAR

x

>
A, 8. Kiran Kumar

Question ID : 9864494444
Status : Answered
Chosen Option :1

Q.19

Question ID : 9864495114
Status : Answered
Chosen Option : 3




Ans

e e e e 31 e ot 8 1 e WYL QOVEIORSAlErE.IN

Fea R Hlaar 27

wHEED =B

—

—
pholzles

The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?

Problem Figure

L—

—

Answer F[gures ’ ‘
A B C D

X 1D
X2 A
v B
X4C

Q.20

Ans

e & ofEas & T & & EI-E?I’ %’7 Question ID : 9864494609

The rate of change of displacement is called: Status : Answered

3T

Chosen Option : 3

&)
Velocity

aifar
Speed

?‘?3-{&

Distance
LT

. Acceleration

K2

p

Q.21

Ans

Sfpeiame dir  10fera geaae B & seue & At Fr afaw Fer gEe
YR e A A ET @ e A e TR @

Two balls of steel having mass of 5 kg and 10 kg each possess equal kinetic energy.
‘Which ball is moving faster, if at all? Chosen Option :1

Question ID : 9864494971
Status : Answered

xmmﬁroﬂ?:rmaﬁ?rflaé?aﬁlﬁrﬁl
The 10 kg ball is moving faster.
xz_a’lﬁﬁm?rﬁrﬁaﬂrgrﬁl
Both the balls are moving at the same speed.

X3
=T FaAT e 7 T W T FE 1 B

Kinetic energy does not depend upon the speed of the body.

(4_5ﬁa—c-nmma1ﬁrﬁaﬁaﬂﬁré’r%|
The 5 kg ball is moving faster.

Q.22




4 FH=D 6 U AT w7 w1 21 &= ﬁmgzgygé)‘b ale rt' In Question ID : 9864494859

FAA 4 W 9l FH F E, O T 38 A F b e H o w:E Status : Answered

4 workers working 6 hours per day can finish painting a wall in 21 days. If 7 workers Chosen Option : 4
work for 4 hours per day, in how many days will they be able to finish the same work?

Ans < 1. 28
X224
X332
v+ 18

Q.23 37 faweT & @0 F¢ = B 7w fy & Fwor $r ger @ sfafaftes s .
¥ Question ID : 9864495095

Status : Answered
Chosen Option : 3

Select the option that represents the number of triangles in the given figure.

Ans x1_ 14
<216
V318
X417

Q.24 Trpe ¥ o= irer T F IIUeT
> T S o & R 3 2 @ Question ID : 9864495093

Status : Answered
Chosen Option : 3

Select the option that will correctly fit in the blank space of the following figure.

Ans

v &3

NNYT
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Q.25 ‘TaraA H SeatTaar (GaEae A ) sEa &
‘Who coined the phrase ‘Survival of the Fittest’?

Ans 1 W g FeeT
Gregor Johann Mendel

vz g9 FI=ET

Herbert Spencer
| ST geNteiE g

Dr. Har Gobind Khorana
<, T S

Charles Darwin

x

Question ID : 9864494708
Status : Not Answered
Chosen Option : --

Q.26 57 v 25.2 He T A F 11:25 & g F faiag G S ¢
T ghs T TS Thae geir?

When a wire 25.2 m long is divided in the ratio 11 : 25 the length of the longer piece is:

Ans X1 15.2 HreY
152 m
7.7 AT
7.7m
17.5 T
17.5m
18.4 #HeT
18.4m

X 2

v 3

X 4

Question ID : 9864492865
Status : Answered
Chosen Option : 3

Q.27 v @y & 5 waw oIl gt @ Arew 15 €, wais @y wi wwmst
FT AeT 17 §1 I of=r o Temnst # ona 9w geanst T oAren 1825 §
@ g # g faaa wE o6

The mean of the 5 smallest numbers from a group is 15 while the mean of all the numbers
of the group taken together is 17. If the mean of the numbers leaving the smallest five out

is 18.25, how many numbers were there in the group in all?

Ans x1_ 14
X238
v 313
K412

Question ID : 9864492918
Status : Not Answered
Chosen Option : --

Q28 rm & & Fla & R a7 = 9fFa 5o | 3rewET FEN?
‘Which of the following methods will separate water from muddy water?

Ans ¢ . am
Filtration
2 JUFRNT T (Feie)
Separating funnel
HATHIA
' Distillation

< 4
Crystallization

X3

Question ID : 9864494978
Status : Answered
Chosen Option : 1

A2 rmfaf@a & @ #ia w g-Reaaa st af 2

Which of the following is NOT a double displacement reaction?

Question ID : 9864494939
Status : Not Answered




Ans

ovtjobsalert.i |
X 1. BaCl, + H,50,-> BaS0, +2HC9 J ﬁ "Ercsen opton: -

v 2. MgzN, + 6H,0 = 3Mg(OH), + 2NH,
X 3.CuSO, + H,S = CuS + H,S0,
# 4 NaOH + HCl - NaCl + H,0

Q.30

Ans

Tomm meen: aE See A fEehe - WS 7E 3T, A IfEaw, 3T
¥ AU e Qo I SRS F 0 ey &1 aeAwr §7

The book ‘Six Machine: I Don’t Like Cricket —I Love It is the autobiography of which
Jamaican cricketer who plays international cricket for the West Indies?

Question ID : 9864494449
Status : Answered
Chosen Option : 2

r 0 r"g THel
Andre Russell
| e A
Chrls Gayle

x31=|?-ﬂ?'l'a Cre)

Sunil Narine
ST ATSehel ral
Darren Michael Bravo

X 4

Q.31

ﬁ- ﬁ 7/ : # E EIQI Question ID : 9864494919
A .drFT - Cu Status : Answered
B.Oo&T - Au Chosen Option : 2

C.9RT - Me
D. waifess - Pt
E. =T - Ag
Select the INCORRECT match’s from the following.
A. Copper —Cu
B. Gold — Au
C. Mercury — Me

D. Platinum — Pt
E. Silver— Ag

Q.32 37 fyeew F T30 T & T v oo F wea ey (?) & T o g

Ans

Question ID : 9864495056
245+ [5+8= (1 n i) —1]=2 Status : Answered

Select the option that can replace the question mark (?) in the following equation. Chosen Option : 4

2+5+[5+8+(14+1)-1] =2

3
p O
2



www.govtjobsalert.in

Q.33

Ans

U v gaEw T # Icaw A & @ e v F sieafia G g 98 seor A
Fleram 32

WYLy

The given Problem Figure is embedded in one of the given Answer Figures. Which is that

Answer Figure?

Problem Figure

Answer Figures

W W

v 1B
X2A
X3cC
X 4D

Question ID : 9864495149
Status : Answered
Chosen Option : 1

Q.34 PRl d TslT o T g/ a8

Ans

HYA:

A) TF 3T 7 10 F ZTT Tolah TAT, Tcat 7 TOTTeTe Siaiehar Oger o Sar i
T &l

B) 3Mafae aTfem & #Hg # AR e o Av-arg 1 gt wiafa g e g
‘Which of the following statements is/are true or false?
Statements:

A) On moving from left to right in a period, the chemical reactivity of elements first
decreases and then increases.

B) The chemical reactivity of non-metals increases on going down in a group of the
periodic table.

x o P A¥RBEE |

Statements A and B are true

Question ID : 9864494663
Status : Answered
Chosen Option : 3




| FUA A TEE, olfehet B aTerd
Statement A is true, but B is false
| e B HET &, Akt A ol 81
Statement B is true, but A is false
x4 FUAT A HR B T 2
Statements A and B are false

v

x

WWW%qovtjobsalert.in

Q.35 Iy 2018 ¥ T frew wfefroe o (Mrdived) Faar F =T &
&8 fgea fear &2

Who has been appointed as the Chairperson of the Central Board of Film Certification
(CBFC) as of March 2018?

T TS

Subhaash Ghai
AT s==lad

2
Jaya Bachchan
FHIIH WL

Ans

<

X 3.
Anupam Kher

«4.W§Eﬂ'ﬁﬁ'

Prasoon Joshi

Question ID : 9864492422
Status : Answered
Chosen Option : 3

Q.36 frufaer = 3k aifgs = & Ot &1 g a9 ¥ A= Jar 22
The sum of potential energy and kinetic energy is known as:

Ans ﬁ:’IE(-EIT-l' F:rﬁ'
p S0 2
Electrical energy

v: i F=r
Mechanical energy

, Trarfes Sl
Chemical energy

x4 QeRTeT Tl
Light energy

x

Question ID : 9864494611
Status : Answered
Chosen Option : 2

Q.37 R v vt F HET ST F AR W HJAEUT 95 F TIT R

RAT : 18120 :: GOD :

Select the missing term based on the given related pair of terms.

RAT:18120:GOD:
Ans X 1. 7174

X 2 7164

V'3 7154

< 47144

Question ID : 9864495018
Status : Answered
Chosen Option : 3

Q.38

Question ID : 9864494885
Status : Not Answered




Ans

o wEefrarg Pwor % At s For mm%g g\eéggrpﬁalert I rl?hosen Option : --

FT AT fraar §27

If each of the two equal angles of an isosceles triangle is twice the third angle, the measure
of the third angle is:

X 1 45°
V2 36°
x 3 72°
X 4.90°

QI AR XTI FFTFI G Y T & F X Y F A & A & & d2r

Ans

gAYFRIXEFE g

If pointing at X, Y says that X is the son of the only son of Y's mother, then Y"s father is
X’s .

v alal
Grandfather

gl
Xoa

Father-in-law
< 3 T

Father
x o ¥

Brother

Question ID : 9864494041
Status : Answered
Chosen Option :1

Q.40 2t ar=T A 3t B e Wrelr ST F FAR: 32 T 48 Uel # W mea § =9

Ans

TS 3 ST F AT T W@ E A T C I T F 64 T F T

TR g1 YT H, T T @redr off o 98T A AR 9T C Fr =] Rear e
ol FT U F A, BT A F a5 F &G 4 o v 56 vEw Y B #
], T AT ATl VHT T g R e F w112 92 w6 A 9n

B = fraw oei g% = wr T an?

Two pipes A and B can fill an empty cistern in 32 and 48 hours, respectively. Pipe C can
drain the entire cistern in 64 hours when no other pipe is in operation. Initially, when the
cistern was empty Pipe A and Pipe C were turned on. After a few hours, Pipe A was
turned off and Pipe B was turned on instantly. In all it took 112 hours to fill the cistern. For

how many hours was Pipe B turned on?

<184
<277
#< 370
v 72

Question ID : 9864494581
Status : Not Answered
Chosen Option : --

Q4

Ans

AT TR FAeT F fRw A § wEE o # ae-wws i e &
o v i afEisET 3R 87

The Union Environment Ministry has launched a pilot project for beach clean-up and
development named:

. Ta=0 AT
Swatch Bharat
X2 AT FelaT
Green Flag

X3 FolleT Sf2aT
Clean India

Question ID : 9864494417
Status : Answered
Chosen Option : 2




<ol TeleT
4.
Blue Flag

v
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Q42 395 FT 56% &

Ans

56% of 375 is:
< 1.168
< 2196
X 3224
v 4 210

Question ID : 9864494896
Status : Answered
Chosen Option : 4

Q.43 =7 faFeT F1 T9a St At W 92 ¥ 37 o TERT § o g e

Ans

g ug T WatOd P

ool - aREn (eaeier) © agAvse g

Select the option that is related to the third term in the same way as the second term is
related to the first term.

Electricity : Galvanometer :: Atmospheric Pressure :

Osmometer

(F=S i ray
X3
Sphygmomanometer

FrEgrHeT

Hydrometer

X4

Question ID : 9864494806
Status : Answered
Chosen Option :1

Q.44 = # & B Fol A Riewaw 2017 # #Ra TR @R AFRee FOel HT ot Farer fomar arar?

Ans

‘Which of the following companies was bestowed the status of Maharatna company by the government of India in September 20177

F !
der 3’ ypfas Sre e (3easdr)

Oil and Natural Gas Corporation (ONGC)

v &)
A SafeaH Faee offes (@ drdree)

Bharat Petroleum Corporation Limited (BPCL)

X 3.
TSET I I FAReE (TH.ELET)

National Thermal Power Corporation (NTPC)
e HumEr A sEar fies @)

Steel Authority of India Limited (SAIL)

X 4

Question ID : 9864492358
Status : Answered
Chosen Option : 1

Q.45

Ans

R e G )| Ml s
The reciprocal of the value of

i e e e Gl L

X1

X 22

Question ID : 9864492484
Status : Answered
Chosen Option : 4
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Q.46 5 e F T 9foaY 9% WA == 9T s R T ¥ x 39 & = O
FXaT &, o= Ty & e W 4w F e gfaey 7.5% ava saret e
%Ix:yﬁ‘ﬁ"‘l

T x invested at 9% simple interest per annum for 5 years yields the same interest as that on
T y invested at 7.5% simple interest per annum for 4 years. Find x : y.

Ans X 1.45:30
X<28:9
X316:15
v2:3

Question ID : 9864494897
Status : Answered
Chosen Option :1

Q47 g FfRET T BT HIRE F AREL FaT 1T § 2
‘Which cell organelle is called the Master of the Cell?

Ans HATEIhIgaT
F !
Mitochondria
2.
Endoplasmic reticulum

K3 o~

Nucleolus
CIECD

Nucleus

v

Question ID : 9864493395
Status : Answered
Chosen Option :2

Q.48 337 fasreT @ waaT & o BE 7w =By #F g wne #F 88 5 §

?

Select the option that will fit in the blank space in the given figure.

Ans
< N\

Question ID : 9864495072
Status : Answered
Chosen Option : 3

Q.49

Question ID : 9864495061
Status : Answered
Chosen Option : 2
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o g

AT F G FT T FA 2

T

1. e & T wed ¥, o @ e i e @ dem

2. WG F FIET FES §, FA AW AT Y S T Y B WA FEed B

Read the following question and decide which of the given statements is/are sufficient to
answer the question.

‘What is the colour of human blood?

Statements:

1. Blue is called pink, red is called orange and orange is called yellow.

2. White is called black, black is called green, green is called brown and brown is
called red.

F 8
99 T 3ol & & ToIT I e 1 T1 f&Fepew 2 TaeT &1

Either 1 or 2 is sufficient to answer the given question.
W2
9o FT 3ccl &1 & [T Fad fAFeT 1 AT &, SuiF FEa e 2 W
CEA]
1 alone is sufficient while 2 alone is not sufficient to answer the given question.
X3
T9T FT 3ca¥ & & forT e 1 3t 2 a9t veary qoem E

Both 1 and 2 together are sufficient to answer the given question.

X4
92 H 3eeR &t & o0 Fael Ao 2 Taed &, FafF Faer BT 1 9ueg
@ 2l

2 alone is sufficient while 1 alone is not sufficient to answer the given question.

Q.50 Rqw 71w at # wEr A ge o W saw At @ Fa @ ey

dfdeeh &7 @ e e o1 @ §
T
$o FHHie, FAEar gid 81 Wi Hufedl, FRae g gl
fored:
1. 5 FREE, FEEE B #
2. Wt Frer, FRGEE B E

Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the statements.

Statements:
Some offices are companies. All companies are factories.
Conclusions:

1. Some factories are offices.
2. All offices are factories.

b )
faseg 1 3t 2 @&t 9o fFT =T @ B

Both conclusions 1 and 2 follow.

X2
s 1 3reEr 2 9o fRaT ST FeRar 2

Either conclusion 1 or 2 follows.
s Fao =Y 2 g AT 31 GeRar gl

Only conclusion 2 follows.

Question ID : 9864495096
Status : Answered
Chosen Option : 4




v

Only conclusion 1 follows.

e 1 e %W.govtl%tl)salert.m

Q.51 v o, 5% gag 6 7= FE WAT W ¥ o a1, v e & 5 des
3 wod ¥ EET & 2 5o uE & fhaer @aw fRmE &

A watch gains 5 seconds per minute and was set right at 6 AM. What would be the time
shown on the watch when the correct time is 2 PM?

Ans v a9gT 2.40 I
2.40PM

?<2am§r2303ﬁ
2.30 PM

x 3 a9eT 2.20 I
2.20 PM

x 4 a9eT 2.50 I
2.50 PM

Question ID : 9864494882
Status : Answered
Chosen Option :1

@52 Loy AT BT F e A,

AUBNC) =
In the usual set notation,

AUBNC) =
Ans X 1. (AUB) N (ANC) =
X2 (AN BUMANC) =
X3 (AUB)U(AUC) =
v+ (AUB) n (AUC) =

Question ID : 9864495152
Status : Not Answered
Chosen Option : --

Q.53 1287 oY & FRAT THT EENT SearEr A o1 S 144 ey
# TgT W T g@NT qRitEa R

The was built by the Kakatiya kings of the 12" century which was rebuilt by the
Qutab Shahi dynasty in the 14*® century.

we | @S fean

Fort Kochi

Golconda Fort

Question ID : 9864492079
Status : Answered
Chosen Option : 3

%350 & 58% Ra=T gAT & 2

589% of 350 is:
Ans X' 1.210
v 2203
#3196
<4217

Question ID : 9864494536
Status : Answered
Chosen Option : 2




Q.55

Ans

maqﬁmaam?rﬁﬁﬁham%Ams-mgapy
¥ Trg Fr ofew 3= et 32

An object of mass 15 kg is moving with a uniform velocity of 4 ms™*. What is the kinetic
energy possessed by the object?

60 I
F ! ™
607

12 o
X2 -
127

1.2 I
X 3. ~
1.27

120 S
1207

v

alert.in

Question ID : 9864494610
Status : Answered
Chosen Option : 4

Q.56

Ans

9ET FOT A 9T A 27
Pollen grains are found in:
v :
anthers

o, T T g
locule

*

IS IE]

ovules

i
stigma

K3

K4

Question ID : 9864494947
Status : Answered
Chosen Option : 1

Q.57

VWY9PONISFSLUDTG61AT, 5 & 36N W, Heafafdd a7 & Juiead 3w &
T H
VN, PF, 5U,

On the basis of the sequence VWYIPONISFSLUDTG61AJ, select the missing term from
the following series.

VN, PF, 5U,

X1 LG
X2 U6
V'3 UG
X 4 LT

Question ID : 9864495121
Status : Answered
Chosen Option : 3

Q.58

Ans

A 3B R F @1 A #T 35 e # 9 X EFd 31 A SRR F AT §
iﬂvgmaﬁwmﬁaﬁtﬁﬂﬁzmhﬂma}quﬁm
¥ FE O F F T 90 T F AT o &1 3 A H 30 e A
ZART FH F TH W A F O B R w37

A and B can complete a task together in 35 days. If A works alone and completes ; of the

task and then leaves the rest for B to complete by herself, it will take a total of 90 days to
complete the task. How many days would it take A, the more efficient among the duo, to
complete the entire work by herself?

X 1.45
X 248
X 340
v 42

Question ID : 9864493010
Status : Not Answered
Chosen Option : --
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%9252 ~ [51-{27-(9- B+ N} =2
252 = [51-{27- (9-8 + N} =2

Ans x1_ 9
X 27
V' 14
X418

Question ID : 9864492899
Status : Answered
Chosen Option : 3

Q80 3 BT 1 T F A AT THG F I G &

[ X 4 1 3

T X433 2254

/2 dh 5\
A B C D

Select the figure that does NOT belong in the following group.

[\8 4 1 3

|x 3“2 2X(s %

A B C D
Ans x1_A

X 2D

K3C

v B

Question ID : 9864495100
Status : Answered
Chosen Option : 2

Q61 162, 54 3T 135 AT AgedH FATTGASF ohaell &7
The HCF of 162, 54 and 135 is:
Ans x 1.3
X21
<39
27

Question ID : 9864494512
Status : Answered
Chosen Option : 4

Q.62 or=fof@a B # ¥ #id v TFg & BE & THeA 3709 82

V(W MW
A B C D
Select the figure that does NOT belong in the following group.

VW MW
A B C D
Ans X1 A

vC

X 3B

X 4D

Question ID : 9864494134
Status : Answered
Chosen Option : 4

Q.63 37 2z 1 997 H O TAE F g W F WY 7T TAAT &7
Choose the word which is least like the other words in the group?
Ans

Question ID : 9864494734
Status : Answered
Chosen Option : 4
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Q84 Zird Fr oA ST @ AT @Il g5 IIH SIS g HL

gehret : folg shealT
Select the pair that is analogous to the given pair of words.

Lawyer : Cross-examine
Ans X1 FRT : HGTAd

X 2 ﬂﬂTﬁEﬁ?

< 3. gfyaT . FrereT

v o 9o gBdrs

Question ID : 9864495138
Status : Answered
Chosen Option : 4

Q.65 37 TE F AF FA § S WA AR F NTHAEH FEEEN W SHSA §2 58 I¥ 1914 F yw Faw am@w am

‘What is the name of the canal that connects the Pacific Ocean to the Atlantic Ocean? It was commissioned in the year 1914.

Ans Eﬁlﬂm

. Panama Canal
x4 gSc H 7T
White Sea Canal

Question ID : 9864494494
Status : Answered
Chosen Option : 2

Q.66 wATE =aTH e 15 9By UH ohr @ 12 fde § 51 aedr 1 aaRE o
¥ g T Al 6 TEY WA gAE A Aty F 58 o @ # ow &

15 pipes, each having the same diameter, can fill a cistern in 12 minutes. How long will it
take for 6 pipes, each with double the original diameter, to fill the same cistern at the same
speed of the flow?

e g 15 e
7.5 minutes
10 Aae

10 minutes
9.5 e
9.5 minutes

12 Aac

12 minutes

X2

< 3.

< 4

Question ID : 9864494842
Status : Answered
Chosen Option :1
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QT e At FagaT Falaw 2%7 S“ﬁl gl Question ID : 9864493592

During combustion of unsaturated compounds a is seen.

Ans 1 arer ot

red flame

X2 el @it
blue flame

x 5 ATF @t
clean flame

W 4 el @it
yellow flame

Status : Answered
Chosen Option : 2

Q8 rmr T W AR Ht i s mm s s FRr = a& g
H AT Fua g F

Ifg U, V 3T W FueRs FETT T 3R Z v FE § O T 2 9AeRS 27

FYA:
1.Z2=V-W
2.ZxV=U

Read the following question and decide which of the given statements is/are sufficient to
answer the question.

If U, V and W are negative numbers, and Z is a number, then is Z positive?
Statements:

1. Z=V-W
2. ZxV=U

Ans x1.
99T & 3ca¥ & & faw Ir ar 1 1 2 qaeT B

Either 1 or 2 is sufficient to answer the question.

X2
T I Ica¥ &7 & forw 1 3y 2 2 T

Both 1 and 2 are sufficient to answer the question

W 3
3Rl 2 9o & e 99 T Icad & & ToIT 3tker 1 9T S 2

2 alone is sufficient while 1 alone is not sufficient to answer the question.

< 4
3ehel 1 TaTeq & STaTeh 99 %1 Jcad & & ToT 3her 2 e =gt 2l

1 alone is sufficient while 2 alone is not sufficient to answer the question.

Question ID : 9864494752
Status : Not Answered
Chosen Option : --

Q.69 Prafafaa & ¥ Fi9 &1 IAAE FAT F TH W 747 87

Which of the following is not an example of a biomass energy source?
Ans =

F ! ;
Ethanol

xz_?n::ra:r?hm'

Cow dung

(3.qmma o

Atomic energy
CEl
Wood

X 4

Question ID : 9864494956
Status : Answered
Chosen Option : 3

Q.70




wHiees F & T ghiadar er-Reaw Milggr@gggale rt In Question ID : 9864494986

= & B SeaRerE g &l

The is responsible for precision of voluntary actions and for maintaining the
posture and balance of the body.

F ! THTETS
Cerebrum

oo

Cerebellum

AT =
< s =
Spinal cord

Ay ATETSH

Mid-brain

X 4

Status : Answered
Chosen Option : 1

Q.71

Ans

THg W A AT @el del DI F Tl

AR Pre

A B C D
Select the figure that does NOT belong in the following group.

IR 1

A B C D
X 1B
v2D
X3C
X4 A

Question ID : 9864495146
Status : Not Answered
Chosen Option : --

Q.72

Ans

FATAT FA S Tl e e dlE S v send ¢, e adw s A
HATS ST &2

The annual buffalo race called Kambala is a festival celebrated in which Indian state?
F ! S

Kerala

oA

Punjab

Karnataka

HifZam

Odisha

<2

W 3

< 4

Question ID : 9864492403
Status : Not Answered
Chosen Option : --

Q.73

Question ID : 9864493717
Status : Answered
Chosen Option : 4
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fow gu Fia & forsd foamer o1 et F

FUT:
o it i §) wh & i {1
forsand:

1. 75 3% & §

2. 75 3 AT &

Consider the given statement as true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:
Some chairs are desks. All benches are desks.

Conclusions:

1. Some desks are benches.
2. Some desks are chairs.

Ans - Faer sy 1 3TTEIOT FAT §
1.

Only conclusion 1 follows

e TsHy 2 TEROT T &
2

Only conclusion 2 follows

3ma’r1m234§murm%

x

>
Either 1 or 2 follows

1 3R 2 et e = #

Both 1 and 2 follow

v

Q7% 37 111 31X 148 Fr 7.9, fFgar &2 Question ID : 9864494532

Status : Answered

Find the LCM of 37, 111 and 148. e S
Ans X 1.222
< 2. 296
X 3. 424
v 4444
Qs 3?'# @I’ FiT or ZFH_QIT& 6 @' IEE ] 2’7 Question ID : 9864494554

Status : Answered
Chosen Option : 2

Which of these numbers is divisible by 6?

Ans 2 1. 34672
v 2. 45678
/< 323456
< 4. 56792
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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q1

Tra WA B, BT v seew & e # afefem & wsew Ry wm A 2
LEC B EEY

5

3o B

A B C D

The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?

Problem Figure

Answer Figures

Question ID : 9864495107
Status : Answered
Chosen Option :2

‘ \
A B c D
Ans X1B
X2D
v A
X4C
Q.2 gue ¥ 6:43 7ot 9 & g§ AN Fme & §3 & <9 a0 =77 For 7oA

foRa=T g ?

‘What will be the measure of the acute angle formed between the hour hand and the minute
hand at 6:43 a.m.?

Question ID : 9864494543
Status : Answered
Chosen Option : 1

ans 121 59
v 2 56.5°
X 2 56°
X +.78°
Q3

Ans

v ARAR FAFH 42 O TA §1 I FA WHG F LA AT it F
=T g &, o dfies sewa & anates ety e i 2

A television show lasted for 4% hours. Lf%th of the total time was spent on advertisements,
what was the actual duration of the television show?

Question ID : 9864494590
Status : Not Answered
Chosen Option : --
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5
4
— hours
5
? -
2= e
15
7
2— hours
15
g2
15

14
— hours
15

11 =
L,

11
3— hours
15
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Q.4

Ans

1 ST 2018 T MY AR I fGF 9k F dem RRTw F e W o
fore & ameR ST & AT 2017 Yo g gEEe S FT RR e &
A sfoe s o

‘Which cricket team created history by winning the 2017 Ranji Trophy tournament with a
thumping 9-wicket win over Delhi at the Holkar stadium in Indore on the fourth and
penultimate day of their final on 1 January 20187

geETe

Hyderabad

2 Ferst
Vidarbha
x 5 3 ger

Uttar Pradesh

CIE iG]
X

Gujarat

r 0

Question ID : 9864494400
Status : Answered
Chosen Option :2

Q.5

ST AR FeM TR aRAF AR B A EFaEsS
FIUT F T BIE FIOT &7 AT Fovdal 21T 22

‘What is the measure of the smaller of the two angles formed between the hour hand and
the minute hand of a clock when it is 6:44 p.m.?

Question ID : 9864492853
Status : Not Answered
Chosen Option : --

Ans 1. 83.5°
< 2 625°
V'3 62°
X 4.84°
Q.6 FERRE #§ & Fa & TWHR F T & F 97 TawT e HEdr ARt

Ans

& FeAfeT W =T F TE & B v § o G ¥ as v g g
et welereret Aot &7 I R 87

Which of the following governments recently launched a free household power connection
scheme called ‘Prakash Hai to Vikas Hai’ for the poor in the state to mark former prime
minister Atal Bihari Vajpayee’s birthday?

r 0 Y e
Andhra Pradesh
o TR el
Uttar Pradesh
HERTSE
Maharashtra

K 3

Question ID : 9864494396
Status : Answered
Chosen Option :1




